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A roller coaster going 15 m/s goes into a dip whose radius is 12 m. V= 157% L —
Draw and label a good FBD. =iz m _
(a) What is the centripetal force on a 70 kg passenger? : _ P F N7 —— N
(b) What does the 70 kg passenger feel he weighs? /=704

’ f Fn
e £ F=mle
2
L Fnu-mg= MY
r
2
F e = —’j-\{' F N - MY z > a
r . r
= 7o 1S4 2
/2 = 70 (154‘! + 70#5(9'8.’;115
" 2t

/
H[Fe > 3/0N] D [Fazzooon]

Centripetal Acceleration quiz 1-6-03

A roller coaster going 12 m/s goes into a dip whose radius is 15 m. V=r1SM

Draw and label a good FBD.

(a) What is the centripetal force on a 80 kg passenger?
(b) What does the 80 kg passenger feel he weighs?
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